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CBCS Regular Exarnination May-June 20tr4
Subject: 20S;l0lResearch Methods & Statistical Applications'fime: 

3 llours
lnstruction:

1. All questions are cornpuisory.
?. Write arswer of each section in separate answer books.
3. Figues to the right indicate rnarks of questions.
4. Standard terrns and notation are used.

Total Marks: 70

SECTION tr

8'1 (,Ai Two Samples are drawn &arn two nonnal poputralicn fonn the following data. Test whether {071
the two sarnples have the same variance,(Take Ftob = 3.6S )

lTancptAAl-eoTos I zr
L.4 |

i_lespl*-_g_l{l_l_q il 6 i
{Bi An auto cornpany decided to introduce new six cylinder cai &'hose rnean petrol cons*mption t05l

is elainred to be lower than that of tlie existing auto engire. It was forurd that the mean petrol
consurnption for 50 cars lvas 10 llm per liter with a standard deviation of 3.5 Km per liter.
Test for the company at SYo level of significance, whether the claim new car petrol
consuurption is 9.5 I(m per liter on sverags is acceptabla.Tt^u=1,g6 Far 5ya level of
significance.

OR
8'I {*t} Two independent samples of g and 7 items respectively had the following values of the l:071

variable"

ilo the tr,vo estirnates ol'population variance differ significantly? (T'ake Frop = 4.21)
(B) Two sample of 100 elecfic bulbs eachhas mean 1500 anri 1550 their standard division are

-50 and 60 respectively can it ttre regarded to brands dif'fer signifiaant at 1% level of
significance. [.ise Tau; =2.58 for I9lc of significant lsvel.

8A (Ai Drarv and explain flow diagrarn for hypothesis testing.
(B) Based on infonrration on 1000 randomly solecled fields about the tenancy status of the

cultivation of these fields and we of fertilizers collected in agro-economics survey. The
following information rvas noted,

Owned Rented Tntal
Usine fertilizers 416 184 600

Not using fertilizers 64 336 400
Total 480 sza 1 000

ff i€I
IUJ I

l05l

l06l

Would yoe conclude that
59/o sigrif'rcance ( use gfog

oltr'nsr culiivators are rnote incline toward ths use cf fertilizer at
= 3.84 )

f-? (A)

(E)

GR
What is "hypothesis"? Explain: type I eror & type II error.

The f*llcrvirig data is collected on tu'o characters. /Based on this can you
relation betr+'een srnoki*s and li ake F'.r = 3.68

SrnokersNon-smokers
Literates 83 57
{liiterates 45 68

l05l
say that tirere is no t06]
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Q-4 (A)
(B)

.8-4 (A)
(B)

Q-s (A)

tE)

Q-s (A)
(B)

Q-6 {A}
(B)

(A) Compare Population study and Sample study.
(B) Explain following terms: (l) Editing (2) Classification

SECTION TI

Explain the research thai is in context to generalization and with the fonnulation of a theory.
Draw the flow chart of research procoss and wite the steps of research process.

Wtrich problems are cccuned or sncc'unterroob}rrrr*cher in India.
What are the necessities of defining the problems?

Write all the concept related to research design and oxplain only research hypothesis.
Fxplain the sample analysis based on cost of collecting data and cost of incorrect inference
from data.

OR
What is the probability sarnpling and explain the systematic sampling.
Explai"n the non probability sampling in detail.

Classified and evaluating the measurement scales.
Explain observation methods for data collections.

END OF PAPER
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